UNIT 8 TEST

Name: ___________________________________

Date: _______________         

Matching: Match the definitions below to the correct vocabulary word. Use the capital letter in the space provided.

1. ____  basal area



2. ____ basal area factor (BAF)

3. ____  biltmore stick

4. ____  board foot

5. ____ borderline trees

6. ____ cord

7. ____ coefficient of variation

8. ____  cunit

9. ____ cubic foot

10. ____  clinometer-altimeter

11. ____  DBH

12. ____ DIB

13.  ____ DOB

14. ____  diameter

15. ____  diameter tapes

16.  ____ fixed-radius plots

17. ____  form class

18.  ____ limiting distance

19.  ____ linear feet

20.  ____ log rule

21.  ____ log volume table

22.  ____ long logs

23.  ____ lump sum sale

24.  ____ MBF

25.  ____ overrun

26.  ____ piece

27.  ____ point sampling 

28.  ____ roundwood

29.  ____ scaling diameter

30.  ____ shortwood

31.  ____  tree calipers

32.  ____  tree growth

33.  ____  tree heights

34.  ____ tree volume table

35.  ____ topwood

36.  ____  weight factor

A. normally 15,500 lbs.; for sawtimber, 5500 lbs.: for pulpwood and forest management calculations

B. can be determined by the use of an increment borer

C. used to determine the degree of stocking; a cross-sectional area of trees at breast height; expressed in squared feet

D. measured in feet, logs, or bolts; depending on the purpose of the measurements being taken or tree products

E. used to determine tree DBH, height, and volume; the scribner rule, tree scale stick, FC-78 side is used

F. the distance (in inches) through the center of the tree

G. instrument used to estimate tree diameters

H. used for determining tree height; 4 ½ feet above ground; this measurement is taken outside the bark

I. the taper or rise of the tree; the “blank” of a tree is determined by dividing DIB by DOB times 100

J. a piece of wood 1 foot square and 1 inch thick; timber and lumber are sold by the thousand board foot (MBF)

K. the most accurate tool to use to determine tree diameters

L. some forest products are measured in terms of the length in feet

M. used for determining tree heights as well as percent elevation of land contour

N. a stack of wood containing 100 cubic feet of solid wood

O. a cube of wood 1foot on each side; it contains about six board feet and is used to measure all kinds of timber products

P. a stack of wood including air space between the pieces, which measure 4 feet by 4 feet by 8 feet, or 128 cubic feet; this is accepted as a standard cord in the U.S. and Canada; solid wood content, less the air spaces is about 80 cubic feet

Q. a unit of measure which refers to the number or quantity of timber products of a specified dimension

R. diameter outside bark

S. trees which are near the edge (border) of a sample plot

T. a term which indicates the number of square feet per acre of basal area which each tallied tree represents when a particular point-sampling instrument is used

U. a measure of the relative variability in a population, such as a stand of trees; allows comparison of variability about different-sized means (averages)

V. diameter inside bark

W. circular plots having a particular radius which defines the plot boundaries

X. in point sampling cruises, it is the maximum distance a tree can be from the sample point and still be tallied – this distance depends on the tree’s DBH and on the BAF of the instrument being used.

Y. a mathematical formula or set of diagrams developed for predicting the BF of sawn lumber that can be recovered from logs of various sizes

Z. a table of BF yields predicted by a given log rule for logs of various lengths and scaling diameters

AA. sawtimber trees which have been limbed, topped and then bucked at the upper limit of sawlog merchant-ability (tree length sawtimber with topwood removed)

AB. a sale of timber in which the purchaser pays a specified amount for the designated timber, usually in advance of cutting; the payment is not dependent on the actual volume of timber removed (as determined by scaling the cut timber)

AC. thousand board feet; sawtimber prices are often quoted in dollars per thousand board feet

AD. a measure of how much more lumber was actually sawn from a given amount of logs scaled according to a particular log rule; usually expressed as a percentage

AE. a table which shows predicted volumes for standing timber of various sizes

AF. the upper portion of sawtimber, pole or plylog tree boles that is merchantable for pulpwood

AG. the DIB at the small end of a log

AH. the timber that is in found form, not chipped or sawn

AI. a method of timber inventory in which trees are sampled according to a specified sighting angle; the probability that a particular tree will be tallied is proportional to its size

AJ. pulpwood bucked into short lengths (5’3’’ if it is to be shipped by rail: lengths otherwise employed are 6’, 7’, 8’ or 10’)

Multiple Choice: Circle the most correct answer to each question.

1. What is a wedge prism used to determine?

A. basal area

B. tree height

C. tree diameter

D. linear feet

2. What ranges do the clinometers used in class measure?

A. 50 feet

B. 60 feet 

C. 66 feet

D. 100 feet

3. How many inches from you eye should you hold a biltmore stick when taken a diameter reading?

A. 10

C. 15

B. 20

D. 25

4. What is the most common instrument used to measure tree height?

A. clinometer 

B. biltmore stick

C. wedge prism

D. both A and B

5. All of the following are determined by measuring basal area EXCEPT

A. the degree of stocking of a stand of trees

B. the amount of timber to remove in thinning an overstocked stand

C. timber volume calculations

D. the height of a particular tree

6. What is the most common factor type of wedge prism used in the southeast?

A. 5

C. 20

B. 10

D. 7

7. A chain is how many feet?

A. 50

C. 66

B. 60

D. 25
Short Answer:

1. The _________ ___________ method involves measuring all the trees on the area being cruised.

2. A _______________ ____________ is made by measuring a fraction of the trees on the area being cruised and assumes the remaining trees are similar to the sample measured.

3. The four log rules commonly used are the ______________________, ________________, ____________________, and _________________.

4. _______________ is commonly defined as the average length of two natural steps; a count is made each time the same foot touches the ground.  A natural walking gait is recommended.
5. What are the four steps to follow when operating a compass?

UNIT 8 TEST

Name: ______________KEY_____________________

Date: _______________         

Matching: Match the definitions below to the correct vocabulary word.  Use the capital letter in the space provided.

1. _C__  basal area



2. __T__ basal area factor (BAF)

3. __E__  biltmore stick

4. ___J_  board foot

5. __S__ borderline trees

6. __P__ cord

7. __U__ coefficient of variation

8. __N__  cunit

9. __O__ cubic foot

10. __M__  clinometer-altimeter

11. __H__  DBH

12. __V__ DIB

13.  __R__ DOB

14. ___F_  diameter

15. __K__  diameter tapes

16.  __W__ fixed-radius plots

17. ___I_  form class

18.  _X___ limiting distance

19.  _L___ linear feet

20.  _Y___ log rule

21.  __Z__ log volume table

22.  _AA___ long logs

23.  _BB___ lump sum sale

24.  __CC__ MBF

25.  ___DD_ overrun

26.  __Q__ piece

27.  __II__ point sampling 

28.  _HH___ roundwood

29.  _GG___ scaling diameter

30.  __JJ__ shortwood

31.  ___G_  tree calipers

32.  __B__  tree growth

33.  _D___  tree heights

34.  __EE__ tree volume table

35.  __FF__ topwood

36.  __A__  weight factors

A. normally 15,500 lbs.; for sawtimber, 5500 lbs.: for pulpwood and forest management calculations

B. can be determined by the use of an increment borer


C. used to determine the degree of stocking; a cross-sectional area of trees at breast height; expressed in squared feet

C. measured in feet, logs, or bolts; depending on the purpose of the measurements being taken or tree products

D. used to determine tree DBH, height, and volume; the scribner rule, tree scale stick, FC-78 side is used

E. the distance (in inches) through the center of the tree

F. instrument used to estimate tree diameters

G. used for determining tree height; 4 ½ feet above ground; this measurement is taken outside the bark

H. the taper or rise of the tree; the “blank” of a tree is determined by dividing DIB by DOB times 100

I. a piece of wood 1 foot square and 1 inch thick; timber and lumber are sold by the thousand board foot (MBF)

J. the most accurate tool to use to determine tree diameters

K. some forest products are measured in terms of the length in feet

M. used for determining tree heights as well as percent elevation of land contour

N. a stack of wood containing 100 cubic feet of solid wood

O. a cube of wood 1foot on each side; it contains about six board feet and is used to measure all kinds of timber products

P. a stack of wood including air space between the pieces, which measure 4 feet by 4 feet by 8 feet, or 128 cubic feet; this is accepted as a standard cord in the U.S. and Canada; solid wood content, less the air spaces is about 80 cubic feet

Q. a unit of measure which refers to the number or quantity of timber products of a specified dimension

R. diameter outside bark

S. trees which are near the edge (border) of a sample plot

T. a term which indicates the number of square feet per acre of basal area which each tallied tree represents when a particular point-sampling instrument is used

U. a measure of the relative variability in a population, such as a stand of trees; allows comparison of variability about different-sized means (averages)

V. diameter inside bark

W. circular plots having a particular radius which defines the plot boundaries

X. in point sampling cruises, it is the maximum distance a tree can be from the sample point and still be tallied – this distance depends on the tree’s DBH and on the BAF of the instrument being used.

Y. A mathematical formula or set of diagrams developed for predicting the BF of sawn lumber that can be recovered from logs of various sizes

Z. A table of BF yields predicted by a given log rule for logs of various lengths and scaling diameters

AA. sawtimber trees which have been limbed, topped and then bucked at the upper limit of sawlog merchant-ability (tree length sawtimber with topwood removed)

AB. a sale of timber in which the purchaser pays a specified amount for the designated timber, usually in advance of cutting; the payment is not dependent on the actual volume of timber removed (as determined by scaling the cut timber)

AC. thousand board feet; sawtimber prices are often quoted in dollars per thousand board feet

AD. a measure of how much more lumber was actually sawn from a given amount of logs scaled according to a particular log rule; usually expressed as a percentage

AE. a table which shows predicted volumes for standing timber of various sizes

AF. the upper portion of sawtimber, pole or plylog tree boles that is merchantable for pulpwood

AG. the DIB at the small end of a log

AH. the timber that is in found form, not chipped or sawn

AI. a method of timber inventory in which trees are sampled according to a specified sighting angle; the probability that a particular tree will be tallied is proportional to its size

AJ. pulpwood bucked into short lengths (5’3’’ if it is to be shipped by rail: lengths otherwise employed are 6’, 7’, 8’ or 10’)

Multiple choice: circle the most correct answer to each question.

1. What is a wedge prism used to determine?  A  

A. basal area

B. tree height

C. tree diameter

D. linear feet

2.  What ranges do the clinometers used in class measure?  C

A. 50 feet

B. 60 feet 

C. 66 feet

D. 100 feet

37. How many inches from you eye should you hold a biltmore stick when taken a diameter reading?  D

A. 10

C. 15

B. 20

D. 25

38.  What is the most common instrument used to measure tree height?  D

A.  clinometer 

B.  biltmore stick

C.  wedge prism

D.  both A and B

39. All of the following are determined by measuring basal area  EXCEPT . . .      D

A.  the degree of stocking of a stand of trees

B.  the amount of timber to remove in thinning an overstocked stand

C.  timber volume calculations

D.  the height of a particular tree

40. What is the most common factor type of wedge prism used in the southeast?   B

A. 5

C. 20

B. 10

D. 7

41. A chain is how many feet?  C

E. 50

C. 66

F. 60

D. 25

Short Answer:

1. The _total ________ ___cruise________ method involves measuring all the trees on the area being cruised.

2. A __partial_____________ ____cruise________ is made by measuring a fraction of the trees on the area being cruised and assumes the remaining trees are similar to the sample measured.

3. The four log rules commonly used are the ___scribner rule____, ___scribner decimal c_______, ______international 1/4”_____, and ______doyle______.

4. ____pacing___________ is commonly defined as the average length of two natural steps; a count is made each time the same foot touches the ground.  A natural walking gait is recommended

5. What are the four steps to follow when operating a compass?

· The compass is perfectly level

· The sights are properly aligned

· The needle swings freely before settling

· All readings are taken from the north end of the needle
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